
PLEASE READ BEFORE YOU START
TO GUARANTEE A QUALITY INSTALLATION, WE RECOMMEND READING THESE INSTRUCTIONS 
THOROUGHLY BEFORE BEGINNING ANY WORK. THESE INSTRUCTIONS ASSUME A CERTAIN 
AMOUNT OF MECHANICAL ABILITY AND ARE NOT WRITTEN NOR INTENDED FOR SOMEONE NOT 
FAMILIAR WITH AUTO REPAIR.

INCLUDED PARTS QTY REQUIRED TOOLS

License Plate Bracket 1 Standard Hand Tools

Molded License Plate Holder 1

M8 Button Head Bolt 2
M8 Washer 2
M8 Hex Nut 2

Nylon Push Nut 2

A.	 Attach License Plate Bracket to Bumper with two M8 Button Head Bolts and Washers 
securing with M8 Hex Nuts underneath.

B.	 Insert Nylon Push nuts into the face of the License Plate Bracket.

C.	 Secure License Plate and Molded License Plate Holder to the Bracket using the license 
plate screws provided in your vehicle’s glove compartment.

M8

NYLON PUSH NUT

LICENSE PLATE SCREWS
(FOUND IN GLOVE BOX)

JEEP WRANGLER FRONT LICENSE PLATE BRACKET
FOR MOPAR FRONT BUMPER KITS (MOPAR 82212929 & P5155352)

AEV30217AA 04/03/13


